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$40,000. Total current assets are equal to:
(A)$120.000

Assume a company has a current ratio of 1.5 and working capital equal to
(B)$60,000
(C)$80,000

(D)cannot be determined with the information given

2. Which of the following transactions would increase one asset, decrease
another asset and increase a liability:

(A)owner investment of cash and equipment into the business
(B) paying liabilities incurred last period

(C) purchasing supplies and equipment on account

(D) purchasing land with a cash down payment and a note payable.

3. Which depreciation method generally results in the greatest depreciation
expense in the first full year of an asset's life?

(A) straight-line

(B) units-of-production

(C) double-declining-balance

(D) either straight-line or double-declining-balance.

4. Two separate-errors affected Daisy Sales in 19X7. The beginning inventory
was overstated by $12,000 and the ending inventory was overstated by
$18,000. Net income in 19X7 will be:

(A)overstated by $30,000

(B) overstated by $12,000

(C) overstated by $6,000

(D)understated by $6,000

5. Cost of goods sold is $7.400. Beginning inventory is $3,500 and ending

inventory is $4,000. If there is no freight in and total purchases were $8.250,



what were purchase returns and allowances ?
(A)$850
(B)$500
(C)$350
(D)none of the above

6. The Riverside Company received a bank statement showing a balance of
$60.300. Reconciling items included outstanding checks of $1,450 and a
deposit in transit of $8.500. What is the company's adjusted bank balance?

(A)$60,300
(B) $58,850
(C)$67,350
(D)$68,800
7. When inventory prices are rising, the LIFO method will generally result in a:
(A)higher gross margin than FIFO
(B) lower ending inventory value than FIFO
(C) higher owner's equity balance than FIFO
(D)lower cost of goods sold than FIFO.

8. The current credit balance in allowance for uncollectible accounts before
adjustment is $658. An aging schedule reveals $3,500 of uncollectible
accounts. What should be the amount of ending balance in allowance for
uncollectible accounts?

(A)$4,158
(B) $2,842
(C) $3,500
(D)none of the above
9. In a 2-for-I stock split, the balance in the common stock account:
(A)is cut in half
(B) remains the same
(C)doubles
(D) cannot the determined from the information given

10. A company issues bonds and uses the effective-interest method of

amortization. If interest expense exceeds interest paid on the bonds:
(A)the bonds were issued at a premium
(B) the bonds were issued at a discount
(C) the bonds were issued at par

(D)none of the above

~ ~ Hornets Corporation issued $2,000,000 of 7.5%, six year bonds dated March 1,



I

i '2\\5’ mE R 7
Moo 2% o @ 2002 & gf‘ K> S 5'J;lﬁ‘} 2 (20%)

19X6, with semiannual interest payments on September 1 and March 1. The
bonds were issued on March 1, 19X6, at 94 7/8. Homets's year end is December
31.(20%)

(1) Were the bonds issued at a premium, a discount, or at par?

(2) Was the market rate of interest higher, lower, or the same as the
contract rate of interest?

(3) If the company uses the straight-line method of amortization, what
is the amount of interest expense Hornets Corporation will show
for the year ended December 31, 19X6?

(4) What is the carrying value of the bonds on December 31, 19X6?
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I ~ The following selected data for Coach Corporation for the year ended December 31,

19X6, is available to you for preparing the statement of cash flows:

Cost of goods sold $56,500 Sales revenue $97,300
Depreciation expense 9,300 Interest revenue 4,100

Amortization expense 4,800 Dividend revenue 3,600
Other operating expenses 17,700 Salary expense 24,000
Loss on sale of investments 1,400 Interest expense 5,900
Gain on sale of plant assets 7,200 Income tax expense  2.300

The cash account began the year with a balance of $15,000 and ended the year
with a balance of $195,800.

Accounts receivable decreased ~ $13,600 Issuance of common stock $80,000
Inventory increased 6,800 Proceeds from sale of investments 35,000
Prepaid expenses decreased 2,700 Collection of loan principal 22,600
Accounts payable increased 21,400 Payment of dividends 15,000
Salary payable increased 1,500 Purchased equipment by signing a note payable 20,000
Accrued liabilities decreased 4,300 Proceeds from sale of plant assets 31,700
Income tax payable increased 800 Proceeds from sale of treasury stock 45,000
Acquisition of plant assets 46,000

Instructions: Calculate the following using indirect method @ (#7133 5 42w ¥
EARUMERE L)
(1) Net income (Net loss)

(2) Net cash inflow (outflow) from operating activities



(3) Net cash inflow (outflow) from investing activities

(4) Net cash inflow (outflow) from financing activities
(5) Noncash investing and financing activities



